
False Positive 
 Almost all medical tests have a small chance of a 

‘false positive’ or a ‘false negative’.   

 False positive: The test says you do have the 

condition when you really don’t.   

(you’re fine, but the test thinks you’re sick) 

 False negative: The test says you don’t have 

the condition when you really do.   

(you’re sick, but the test thinks you’re fine) 
 

 The test for a particular disease has a false positive rate of 5%.   

This means that 5% of people who don’t have the disease will be told that they do.   

 The test has a false negative rate of 1%.   

This means that 1% of people who do have the disease will be told that they don’t.   
 

Assuming this particular disease affects 10% of people, complete the tree diagram below: 
  

 
 

Use the tree diagram to calculate the probabilities for each of the four outcomes: 

 
 

If the test says I’m sick, what is the chance that I really am? 
Hint: Imagine 1000 people take the test.  Work out how many would test positive, and out of those people, how many are really s ick?  
 

_________________________________________________________________________ 



False Positive SOLUTIONS 
 Almost all medical tests have a small chance of a ‘false positive’ or 

a ‘false negative’.   

 False positive: The test says you do have the condition when 

you really don’t.   

(you’re fine, but the test thinks you’re sick) 

 False negative: The test says you don’t have the condition 

when you really do.   

(you’re sick, but the test thinks you’re fine) 

 The test for a particular disease has a false positive rate of 5%.   

This means that 5% of people who don’t have the disease will be told that they do.   

 The test has a false negative rate of 1%.   

This means that 1% of people who do have the disease will be told that they don’t.   
 

Assuming this particular disease affects 10% of people, complete the tree diagram below: 
  

 
 

Use the tree diagram to calculate the probabilities for each of the four outcomes: 

0.9 × 0.05 = 𝟎. 𝟎𝟒𝟓   0.9 × 0.95 = 𝟎. 𝟖𝟓𝟓    0.1 × 0.99 = 𝟗. 𝟗    0.1 × 0.01 = 𝟎. 𝟎𝟎𝟏 

 
 

If the test says I’m sick, what is the chance that I really am? 

𝐹𝑜𝑟 𝑒𝑣𝑒𝑟𝑦 1000 𝑝𝑒𝑜𝑝𝑙𝑒, 45 + 99 = 144 𝑜𝑓 𝑡ℎ𝑒 𝑝𝑜𝑝𝑢𝑙𝑎𝑡𝑖𝑜𝑛 𝑤𝑖𝑙𝑙 𝑡𝑒𝑠𝑡 𝑝𝑜𝑠𝑖𝑡𝑖𝑣𝑒.    
𝑂𝑓 𝑡ℎ𝑎𝑡 144, 99 𝑎𝑟𝑒 𝑔𝑒𝑛𝑢𝑖𝑛𝑒𝑙𝑦 𝑠𝑖𝑐𝑘.    
99

144
= 0.6875 = 𝟔𝟖. 𝟕𝟓% 𝒄𝒉𝒂𝒏𝒄𝒆 𝒕𝒉𝒂𝒕 𝒚𝒐𝒖′𝒓𝒆 𝒓𝒆𝒂𝒍𝒍𝒚 𝒔𝒊𝒄𝒌.  


